Al mustagbal college Control system Il Lab.
Biomedical engineering dept. Stage : 4" (course 2)

ExpermINT No.1
Response Of First Order System

Unit-Step Response of the Transfer-Function system can found in two ways :

1.1 Find the response of first order system with unit step input
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clear all
close all
clc

£t=0:0.1:5 $time invariant
C=-2*exp (-5*t)+2; S%SResponce pf the first order system
plot (t,C) $ploting of the responce
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1.2 By using step command

clear all
close all

clc

t=0:0.1:5 $time invariant
num=[107;

den=[1 5];

g=tf (num, den)

step (g, t)

Unit-Impulse Response of the Transfer-Function System can be in two ways:
2.1 find the response of first order system with unit impulse input
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clear all
close all
clc

£t=0:0.1:5 $time invariant
C=10*exp(-5*t); %SResponce pf the first order system
plot (t,C) $ploting of the responce
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2.2 By using step command

clear all
close all
clc

t=0:0.1:5
num=[10];
den=[1 5];

g=tf (num, den) ;

impulse (g, t)

$time invariant

Unit-Ramp Response of the Transfer-Function System can be in two ways:

3.1 find response of first order system with unit ramp input
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close all

clc

t=0:0.1:10; $%$time invariat
C=0.4*%exp (-5*t)-0.4+2*t;
system

plot (t,C)

$Responce pf the first order

3.2 By using step command

clear all
close all

clc

s=tf('s");

t=0:0.1:5 $time invariant
num=[10];

den=[1 5];

g=tf (num, den)

step(g/s, t)




